PTE Speaking Practice Test, 25

Question 1:

Look at the text below. In 35 seconds, you must read this text aloud as naturally and clearly as possible. You have 35 seconds to read
aloud.

Recorded Answer

Current Status
Beginning in 35 seconds.

The climate for doing business improved in Egypt more than in any other country last year, according to a global study that
revealed a wave of company-oriented reforms across the Middle East. The World Bank rankings, which look at business
regulations, alsa showed that the pace of business reforms in Eastern Europe was overtaking East Asia

Read the text aloud and record your response.



Question 2:

Look at the text below. In 35 seconds, you must read this text aloud as naturally and clearly as possible. You have 35 seconds to read
aloud.

Recorded Answer

Current Status:
Beginning in 35 seconds.

In a genuine republic, the will of the government is dependent on the will of the society, and the will of the society is dependent
on the reason of the society. In Federalist 51, for example, James Madison claimed that the extent and structure of the
government of the United States make it dependent on the will of the society.

Read the text aloud and record your response.



Question 3:

Look at the graph below. In 25 seconds, please speak into the microphone and describe in detail what the graph is showing. You will have
40 seconds to give your response.
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Arctic sea ice volume has decreased by 40% as
compared with volumes three to four decades ago.
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Describe the image and record your response.



Question 4:

Look at the graph below. In 25 seconds, please speak into the microphone and describe in detail what the graph is showing. You will have
40 seconds to give your response.
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Describe the image and record your response.



